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GENERAL SCIENCE SSC-I
SECTION-A (Marks 15)
Time allowed: 20 Minutes

Section — A is compulsory. All parts of this section are to be answered on this page and handed over
to the Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q1 Fill the relevant bubble for each part. All parts carry one mark.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

Chemistry is the branch of chemistry that deals with the nature, composition and properties of:

A Animals B. Waves C. Matter D. Plants
Which of the following Muslim scientists first described the circulation of blood in human body?

A Ibn-e-Baitar B. Al Baruni C. Bu Ali Sina D. Ibn-e-Nafees
Percentage of hydrogen element in the human body is:

A. 10 % B. 78 % C. 65 % D. 18 %

Which of the following gases is responsible for fermentation?
A Oxygen B. Hydrogen C. Carbon dioxide D. Nitrogen
Botany is the study of:

A Plants B. Animals C. Stars D. Non living
Hepatitis is caused by:

A Bacteria B. Virus C. Fungus D. Plasmodium
Which of the following is the disease of digestive tract?

A Influenza B. Tetanus C. Typhoid D. Cholera
Which of the following is NOT the unit of energy?

A. Calorie B. Joule C. Watt D. Kilo watt hour
Rusting of iron is a/an phenomena.

A. Advantageous  B. Biological C. Chemical D. Quick

The number of basic units in a computer are:

A. 2 B. 4 C. 5 D. 3

The device that converts sound waves into electrical signal is called:

A Oscillator B. Microphone C. Rectifier D. Loud speaker
Cast iron is obtained from:

A Wrought iron B. Steel C. Pig iron D. Commercial iron

Which of the following is a skin disease?



A Thread worm B. Ascariasis C. Hook worm D. Ring worm

14) For transmission of picture, the camera tube converts the visual information into signals.
A Electrical B. Sound C. Radio D. Heat
15) Which of the following is a non-renewable energy source?

A Solar energy B. Oil and gas C. Water energy ~ D. Wind energy
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Federal Board SSC-1 Examination
General Science Model Question Paper

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

Note: Answer all parts from Section ‘B’ and Section ‘C’ on the E-sheet. Write your answer in
the allotted/given spaces.

SECTION — B (Marks 36)

Q 2. Attempt all questions from the following. All parts carry equal marks. (12x3 = 36)

I. Write down the role of telescope in the field of Astronomy. 3)
OR
Highlight the importance of Fax machine. 3
ii. Name any 3 types of Hepatitis? How do they affect the immune system? (1+2)
OR
Why is Ibn-e-Baitar known as great pharmacist of his time? Explain briefly. 3)
iii.  Write any three points to differentiate between diamond and graphite. (1+1+1)
OR
Elaborate three differences between work and energy. (1+1+1)
iv.  How are calcium oxide, calcium carbonate, and calcium sulphate useful for us?  (1+1+1)
OR
Briefly explain biological, inherited and social factors of mental disorder. (1+1+1)
V. Write any three important functions of Mg for the maintenance of agriculture. (1+1+1)
OR
Describe three precautions to avoid the ring worm. (1+1+1)
vi.  Enlist any three important compounds of sodium. Also write their common names. (1+1+1)
OR
Write the symptoms of whooping cough. 3
vii.  lllustrate the harmful effects of AIDS virus. 3
OR
Enlist three different steps to conserve energy in schools. (1+1+1)
viii. Express water as the Renewable energy resource. (3)
OR
Write a short note on the use of a diode (Any three uses). (1+1+1)
ix.  Sketch the solar house heating system. 3
OR
Briefly discuss the process of modulation of radio waves. 3
X. Compare P-type and N-type semiconductor materials. (1.5+1.5)
OR
Differentiate between Botany and Zoology with examples. (1.5+1.5)
xi.  Discuss the contributions of Dr. Abdul Qadeer Khan in the field of science. 3
OR
Why ice has lower density than the water? 3
xii.  What are the three main requirements of conservation of energy? (1+1+1)
OR

Write down any three adverse effects of heroin on the human body. (1+1+1)



Q.3

Q.4:

Q.5:

SECTION - C (Marks: 24)

NOTE: Attempt all questions. All parts carry equal marks. (8x3=24)
Illustrate the role of science and technology for the betterment of human beings. (4+4)
OR
How is scientific development divided into four periods? Discuss in detail.  (2+2+2+2)
Write a comprehensive note on the topic “water is a universal solvent. (8)
OR
Describe the types of iron depending upon its impurities, tabulate your answer. (2+2+2+2)
Discuss cable television in detail. (8)
OR

What are the effects of smoking on human body? (8)
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